
 

 

Answer on Question #53841– Math – Calculus 

Use graphs and tables to find the limit and identify any vertical asymptotes 𝑓(𝑥) 

𝑓(𝑥) =
1

(𝑥−7)2  

 

 

Solution 

To find the vertical asymptotes, we must set the denominator equal to 0 and solve the following 

equation: 

(𝑥 − 7)2 = 0 

𝑥 = 7 

Thus, 𝑥 = 7 is the vertical asymptote. 

 

x 6.9 6.99 6.999 6.9999 7.0001 7.001 7.01 7.1 

f(x) 100 10000 1000000 100000000 100000000 1000000 10000 100 

 

lim
𝑥→7−

𝑓(𝑥) = lim
𝑥→7−

1

(𝑥 − 7)2
= lim

𝜀→0 ,𝜀>0

1

(7 − 𝜀 − 7)2
= lim

𝜀→0,𝜀>0

1

(−𝜀)2
= lim

𝜀→0,𝜀>0

1

𝜀2
= +∞ 

lim
𝑥→7+

𝑓(𝑥) = lim
𝑥→7+

1

(𝑥 − 7)2
= lim

𝜀→0 ,𝜀>0

1

(7 + 𝜀 − 7)2
= lim

𝜀→0,𝜀>0

1

𝜀2
= + ∞ 

lim
𝑥→7

𝑓(𝑥) = lim
𝑥→7−

𝑓(𝑥) = lim
𝑥→7+

𝑓(𝑥) = +∞ 

 

 

 

Answer:   𝐥𝐢𝐦
𝒙→𝟕

𝒇(𝒙) = + ∞,  vertical asymptote is 𝒙 = 𝟕. 
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